























(rosstalk coefficient

NOAO/IRAF V2.11 3EXPORT valdes@ursa Sat 11:14:33 17-Feb-2001
func=chebyshev, order=1, low_rej=3, high_rej=2, niterate=4, grow=0
total=2048, sample=2048, rejected=160, deleted=0, RMS=1.41E-4
Crosstalk for im2 to iml
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NOAO/IRAF V2.11.3EXPORT valdesBohouper Fed 11 27-9ep-2000
mscomaich_votes: Lines 508 - 608
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NOAO/IRAF V2. 11.3BKPORT
sccuat

homper Yed 11:26:27 27-5ep-2000
umma 580 - 680
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NOAO/IRAR VZ.11.3BXPORT valdeg@chomper Wed 11:31:02 27-Sep-2000
mscematch votes: Radial profilc ai 564255 509.a1

Line

Bodius

NOAO/IRAF vE.11 aldesOchomper Wed 11
macemat. ured from 20. to 60..







NOAO/IRAF V2.11. 3EXPORT valdesBchomper Wed 11:51:01 27-Sep-2000
GEONAP: function = polymomial npts = 700 reject = 3. mrej = 34
X f1t: zorder = 2 yorder = 2 zterms = half stdev =  0.549

Y f1t: xorder = 2 yorder = 2 xterms = half stdev =  0.401

tmplirat?521d: Coordinate Transformation
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NOAO/IRAF V2.11.SEXPORT valdes@chomper Wed 11:51:11 27-Sep-2000
GEOMAP: function = polynomial mpts = 700 reject = 8. mrej = 34

X fit: xorder = 2 yorder = 2 xterms = half rms =  0.549

tmpfirar7azia: X fit Residuals
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ms> msccmatch
List of input mosaic exposures: obj 068pf sz
Coordinate file (ra/dec): usno
MSCCMATCH:
0bj068pfsz:
1582 input coordinates
829 coordinates out of bounds
search using up to 60 objects:
search found offsets of (193, 121) pixels and rotation 0.00 degrees
1582 input coordinates
831 coordinates out of bounds
Fit coordinates:
input number of coordinates = 700
tangent point shift = (-31.03, -49.02) arcsec
fractional scale change = (1.000, 1.000)
axis rotation = (0.007, 0.001) degrees
rms = (0.549, 0.491) arcsec
Accept solution?: yes




































mos039S
mos056S
mos057S
mos058S
mos059S
mos060S
mos061S
mos062S
mos063S
mos064S
mos065S
mos066S
mos067S
mos068S

: 1.0000 (0.0000)  0.00 (0.00)

: 0.8621 (0.0049) 5061.53 (0.00)
: 0.8636 (0.0063) 4780.30 (0.00)
- 0.8581 (0.0046) 4727.07 (0.00)
: 0.8615 (0.0055) 4818.74 (0.00)
© 0.8523 (0.0055) 5263.10 (0.00)
: 0.8613 (0.0053) 6308.23 (0.00)
- 0.8619 (0.0057) 6882.94 (0.00)
£ 0.8482 (0.0052) 7224.76 (0.00)
£ 0.8496 (0.0052) 7099.57 (0.00)
: 0.8497 (0.0068) 6668.69 (0.00)
- 0.8536 (0.0049) 6294.45 (0.00)
: 0.8562 (0.0069) 5665.67 (0.00)
© 0.8495 (0.0067) 3998.97 (0.00)









